The following is the plaintext for the “frequency distribution no spaces” example:

your job is now made more difficult because we have put this message together with no spaces
between words and have included no punctuation in the ciphertext this eliminates some guesswork on
your part because there are no obvious one letter words nor two letter words with some diligence
however you can put this message together using the same frequency distribution as in the previous
example

Since there are to be no spaces in the ciphertext, it was re-written to look like this:

yourjobisnowmademoredifficultbecausewehaveputthismessagetogetherwithnospaces between
wordsandhaveincludednopunctuationintheciphertextthiseliminatessomeguessworkonyourpartbecauset
herearenoobviousoneletterwordsnortwoletterwordswithsomediligencehoweveryoucanputthismessaget
ogetherusingthesamefrequencydistributionasinthepreviousexample

After enciphering, it looks like this:

Umgzbmtxwpmyechnemznhxaaxogkltnocqgwnynicfnvgllixwenwwcrnimrnlinzyxlipmwvconwtnlynnpymzh
wcephicfnxpokghnhpmvgpolgclxmpxplinoxvinzingllixwnkxexpclnwwmenrgnwwymzdmpumgzvczltnocqw
nlinzncznpmmtfxmgwmpnknlinzymzhwpmzlymknlinzymzhwyxliwmenhxkxrnponimynfnzumgocpvqllixw

enwwecrnlmrnlinzgwxprlinwcenaznsgnpouhxwlzxtglxmpcwxplinvznfxmgwngcevkn



